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QUESTION 1

At which point during VMM integration do you need to create the vDS switch within vCenter? 

A. when starting up the VM 

B. No need to create the vDS, the Cisco APIC controller does that automatically. 

C. after assigning the EPG to the VMM controller 

D. before defining the VLAN pool that is assigned to the VMM controller 

Correct Answer: B 

 

QUESTION 2

What does the acronym OBFL stand for? 

A. Onboard Failure Logging 

B. Out of band Failure Logic 

C. Onboard Forwarding Logic 

D. Oversubscription Forwarding Level 

Correct Answer: A 

 

QUESTION 3

Which packets are counted after the atomic counters are configured? 

A. packets that are switched in the hypervisors 

B. packets that are locally switched 

C. packets that are switched via AVS 

D. packets that traverse the fabric 

Correct Answer: A 

 

QUESTION 4

Which three statements about fitter and contract are true? (Choose three.) 

A. A contract can be consumed and provided by as many EPGs as are needed by the network design. 

B. A fitter can be used by multiple contracts. 
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C. A fitter contains groups of IP subnet 

D. A contract can be consumed by a single EPG 

E. A contract can be provided by a single EPG 

F. A filter contains EtherType, IP protocol, TCP flags, and Layer 4 ports. 

Correct Answer: ABF 

 

QUESTION 5

Which two statements about contract policy enforcement are true? (Choose two) 

A. The class ID (or PCTag) of the source EPG is inserted by the ingress leaf into any packets going into the fsbric. 

B. Contracts are always enforced m the ingress leaf 

C. The class ID (or PCTag) of the destination EPG is inserted by the ingress leaf into any packets going into the fabric 

D. Contracts are sometimes enforced in the ingress leaf and sometimes in the egress leaf. 

E. Contracts are always enforced m the egress leaf 

Correct Answer: BC 
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